obogobooobogobooo

gg220110 290

O0: 000000. 000 0000000000000 0ODODDOO.

obOObO: 000boooobocooooo 1000 wwrroooooooooo
goo.

00: 10190 (0)00
goo A
1
I::/ ——g—dx
o 16+ x?
goog.
1. 7000000.

2. 00,4 00000000000000O00O0ODO X,000000000
ooooo

1L 1

YN = — ——

N N;HX,%

0000000 E[(yw-I0)?0000.1

3. 000000 E[(Yy—1)2]0 (0.001)2000000000000 Nogor
0(000D030000000)000.

4. g(x) == gz 000 ¢00000000 g0 (0,4 0000000

000000, e, [, g@)dsr=100000000.

5.0, 0000 ¢g00000000OOO0OOOOOOOOOOO XnD[
ooooooobooo-ooboooboooon

Sl 1
YN = == —= =
N ; (14 X2)g(Xn)

0000000 E[(Yy —1)30

loooo
1 2
2/ _— dr:arctanm—&—/i—i-c’
14 22 1+ 22

O

go.

oooo.



6. 1000000000 E[(Yy—1)?]0 (0.001)20000000000
00 Neon 0 (0000 30000000)000.

7.00,1]000000000000O00O0UO00O00O0O0OO0O g0OO0O0
O00U0oo0o0o.(ooooooon)

8. [0,]000000O00ULDDLUOODUOLOUDL,0,400000000
o0b0000 Xoooooooob-oobooooo gooooooO

D0000000000000000 p= P49 <U) (000
g(x)

M::wrg[%ﬁ]w)mmmm? DD,%J\N/'O,OMD Nooor 00DODODO.

9. 74535023842524 0 9999999 0 00 00O0OOODODO.

10. (00000000 0O0O0. O00U0O00O0O0O0O00O0OUOo0oOOOoOo
O00)CcOooOoooUooOooOooooooooO:
e /0 (UDOO0OUDLD)LDOLUUDDOOUDDOO.
e gLOOIOODOOO 2000C0O0D0O0DOO.

e /O000DODOOODOOOODOODOODOO-DODODOOO
goooo.

e 0000/0,0%00000021"-10000000000.(0
ooooooon)

2X 00000 A0 A(z)=1000.



